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1. weres oHl 6l T e 8 -
(a) ‘°R@ I HigaAl (b) “37citd o Tt
(c) ‘Hifeca 1 9 S IT (d) gl @

2. HYF SSH T I EEATR -
(@) T+IABIMY (b) A+ITHIMH  (c) J+ABINA () T+ABAMH
3. 0 O ORI W -

(a) 3T (b) = OR (d) 3
4.  TTH U yIhia Bt P =g -

(a) ‘A1 AT (b) I (c) ‘et T’ (d) ‘Fed Tl 2
5. Y ‘doe Yo 1 IS AL @

(a) =8 (b) 3T (c) germn (d) o
6. Y THT g T GARETE I Tl R :

(a) ‘TEH (b) STAEY (c) amE (d) 3o

7. ERe St Shi B 3T o oREeh & -

(a) HEE™ SRf (b) ERweRt 9T (c) AW S (d) drw afear
8. TR T I S O forEeh! o AR A R 7
(a) TR T (b) T (c) AT (d) IR H

9, 3TH A PN IHHER HT gIT- T WEAA B 7
(a) e (b) TR (c) <ifsanshae (d) AT o

10. 79 & FURH! Sicil i 3T § —
(a) I (b) EEwRRH (c) YR (d) drgsa
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11.  ‘3TSIasTy o1 319 & —
(a) R IR | (b) TSTEH 331 1 T 1 |red 7 |
(c) S 3T & A S & | (d) TTE=h AT I 7 3T EH |

12. ‘B FoES H @ HreAle |

e H Y fohd ek 1 T B 7

(a) AUCH SRS  (b) T HEH (c) HEY HH (d) GICH HRh

13. ‘S S sell i’ — wlehiferd sh1 Tl 314 & —
(a) IS FEFAT (b) HEA SR HAT (c) Fowlia s (d) 38 P e

14. 99 9 eoHnT forfa o foret Sameft amr @ —
(a) USTE (b) TSI (c) AU (d) FafEn

15. S0 T SgAT ol YHTHETE] W6 T8l & —
(a) R (b) T’ (c) ‘a9’ (d) ‘37’

16. ‘WW’Wﬁﬁ%
(a) IUT T (b) T EfR (c) <" TRy (d) g ata

17. S 1 gfee T 570 B 3 g B —

(a) HaAt (b) wiafEh (c) HharEt (d) iz
18. &<t =1 wifyeles s5io & —
(a) T (b) @ (c) & (d =

19. HFHA ‘A W Th 8 g’ oh TAT 3 :
(a) TS STRft (b) IE A
OREEERICCREIECI (d) WA SETA

20. & =1 UgeT Arearfgsh THRIR-US o ;
(a) ‘TR (b) ‘ST’ (c) ‘eh 18T (d) ‘Icd AdS’
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PART -2
General Knowledge / General Studies

21. Which of the following local winds is found in Alpine valley ?

(a) Sirocco (b) Foehn (c) Harmattan (d) Khamsin

22.  Which of the following States recorded lowest sex-ratio according to 2011 census ?
(a) Haryana (b) Bihar (¢) Gujarat (d) Sikkim

23.  Which of the following Bauxite deposit fields is not situated in Odisha ?
(a) Bolangir (b) Koraput (c) Dumka (d) Sambalpur

24. Which one of the following countries is not a coffee producing country in the world ?
(a) Ecuador (b) Colombia (c) Brazil (d) Chile

25. In food processing industries, percent FDI is permitted under the automatic route in
India.
(a) 90 (b) 100 (c) 75 (d) 80

26. Which is India’s second largest agro-based industry next to cotton ?
(a) Jute (b) Sugar (c) Oil (d) Textiles

27. India is world’s largest consumer and number importer of vegetable oil.
(@) 5,6 (b) 3,2 () 2,1 (d) 4,2

28. Atal Vayo Abhyuday Yojana (AVYAY) is for
(a) Women (b) Children (c) Senior citizens (d) Youth

29. Which sector, was the least impacted by the pandemic (COVID-19) situation and has shown
a positive growth in India ?

(a) Agriculture (b) Services (c) Industrial (d) Tertiary
30. Who among the following was the chief guest of Republic Day-2023 ?
(a) Joe Biden (b) Rishi Sunak
(c) Abdel Fateh Alsisi (d) Joko Widodo
31. Which of the following State/Union Territory has highest score in Social Progress Index —
2022 ?
(a) Kerala (b) Goa (c) Puducherry (d) Tamil Nadu
32. Which among the following were the finalist teams of FIFA World Cup — 2022 ?
(a) Argentina — Germany (b) France — Argentina
(c) Argentina — Netherlands (d) France — Spain
33. The current Olympic champion Neeraj Chopra is associated with which of the following game ?
(a) Discus throw (b) Javelin throw (c) Shotput (d) Hammer throw

34. Jagdeep Dhankhar had been elected 14" Vice-President after defeating which of the
following leader ?

(a) Bebi Rani Mourya (b) Margaret Alva
(c) Maneka Gandhi (d) Yashwant Sinha
35.  Which one of the following does not affect the origin of monsoon ?
(a) Jet stream (b) EI-Nino
(c) Temperature variation (d) Western disturbance
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I T | S ST
21. Trfafgd s vemi @ @ & =t stewm i ard 1 Rl A R 7
(a) Tt (b) & (c) BREEA (d) @mRE
22, SHTUET S 2011 % 3R, Frefefad @ @ fora v 8 =g fefmeura sifsra femam mam o 7
(a) BT (b) ferEw (c) TSI (d) Tafern
23, Twfetiga srerTse fem &mi @ & i |1 e o feua 78 2 2
() SR (b) HRTYE (c) et (d) AR
24,  Tfetiga <ol 5 & < o1 Th fored 3 el IcTeeh o0 T 7 7
(a) 3FISR (b) HIAfEST (c) SISite (d) Toeft
25. WRd W W SEERT e § fohae fasra Teaet foesht frem stiemifes & & am=mia fohan <
e & 7
(a) 90 (b) 100 ©) 75 ) 80
26. R T HUE 3 WG 3T ST DY ST G T TS IAT HH A8 7
(a) TeEd (b) =t (c) T (d) el
27. 9 S dct 1 fored st ey 97 ITHIHT 3R &L T T 2 |
(a) 5,6 (b) 3,2 () 2,1 (d) 4,2
28. 31 91 YT AT (AVYAY) fohess fore 2 7
(a) 3T (b) =l (c) IR amiERl  (d) Fo
29. HIfrS-19 HEHI % BIATAl H, WRA H HIH HT &= G HH THITed 31T AT IR HHRIH I15
oft fears oft ?
() B (b) ¥l (c) i (d) et
30. fr=faRad 9 & @M s feag-2023 w1 ge SAfafy o ?
(a) S ETSSA (b) N gIH
(c) 3TeCH g ST (d) e e
31, TrafciRad O & fohe T /Shommied SeeT A TTHTISeh 3T Feehih—2022 H Hare 3eh T fohT ?
(a) T (b) e (c) TgH (d) aftrerTg
32. fr=fofaa & o @t dH Fie ae8 Hu-2022 % BEe § ugdt off 7
(a) ISEHT - ST (b) W - IWHT () IAHT - Hieteis (d) WiF - T
33. TfaRad 4 @ fore @@ @ HiNET 3T <FeH RS Iue 1 awarg 8 ?
(a) <IeFehT theh (b) HTeTl Sheh (c) Meqe (d) g
34. Y @S e B T fohE JaT bl gUe YA & 149 Swrsgafa Fatfad ge 2
(a) NS O™ (b) HTRE el (c) HTehT et (d) IvrEd g
35. freferfaa @ & S @1 U ArEd 6 3t 1 wwifad & g v
(a) W (b) TA-FAT (c) ammm faftrar  (d) ofvs faeiy
— N . e



36.

37.

38.

39.

40.

41.

42.

43.

44.

45.

46.

The first case of animal disease Lumpi was registered in which of the following State of India ?

(a) Bihar (b) Bengal (c¢) Odisha (d) Chhattisgarh
Who acts as the “friend, philosopher and guide” of the Public Accounts Committee in India ?
(a) Attorney General of India (b) Speaker of the Lok Sabha

(c) Chief Justice of India (d) Comptroller and Auditor General of India

In which of the following cases, it was pronounced that the Preamble is not a part of the
Constitution of India ?

(a) Berubari Union, Inre (b) Golak Nath Vs. State of Punjab

(c) Keshavananda Bharati Vs. State of Kerala(d) All of the above

Who among the following considered Directive Principles of State Policy as a decisive
Politico-Constitutional tool for bringing about social revolution ?
(a) K.C. Wheare (b) Granville Austin (c) Paul Brass (d) Rajni Kothari

Who among the following was the first Chief Justice of the Supreme Court to discharge the
functions of the President of India ?

(a) Justice H.J. Kania (b) Justice K. Subba Rao

(c) Justice Mohammad Hidayatullah (d) Justice P.N. Bhagwati

Which of the following Constitutional Amendment Acts omitted the words “Rajpramukh or
Uparajpramukh” from the Constitution of India ?

(a) 5™ Amendment Act (b) 7™ Amendment Act

(c) 9™ Amendment Act (d) 11™ Amendment Act

Under Article 19(2) of the Indian Constitution, which of the following cannot be a ground
for imposing restrictions on the freedom of speech and expression ?

(a) Decency (b) Morality

(c) Social, Economic and Political reform (d) Public Order

Article 338 is related to

(a) National Commission for Scheduled Caste
(b) National Commission for Scheduled Tribe
(¢) National Commission for Disabled Persons
(d) National Commission for Women

Select the option at the place of (?) that is related to the third number in the same way as the
second number is related to the first number.

12:60::16:7?

(a) 112 (b) 122 (c) 210 (d) 212

Six friends A, B, C, D, E and F are sitting in a circle facing the centre. E is to the left of D,
C 1s between A and B. F is between E and A. Who is to the left of B ?
(@ A (b) C (c) D (d) E

How many triangles are there in the figure given below ?

(a) 12 (b) 16 (c) 24 (d) None of these
47. The Prime Minister inaugurated 26™ National Youth Festival at which of the following place ?
(a) Nagpur (b) Delhi (c) Prayagraj (d) Hubali
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36. U] T IRT ST YT HIHSAT YA o foret § & fopm T 1 ot gamm 7
(a) forem (b) s (c) Ffewm (d) SeiETe
37. WA H ik orEn gftfa & “fim, eeifres ta uy-vesie” & 9§ % SR Har g ?
(a) WA T TETIETC] (b) I TAT 37ETeT
(c) WA I &I =R (d) YRA o1 41k Wa wETerEn Tdiesh
38. T 4 @ fope arg o =g Fvt feam man fob sreamer vt wfgam 1w i g 2
(a) S&EA A, 8 (b) TAHATY T TS T
(c) hIATHG TR SHTH hlet T (d) Iurerd qeft
39. T 0 9 fopmm T & Hifa feeres aal o1 @St shif<r & o1 Foriaes aeifos-aaentes
YT AT S ?
(@) HH. &R (b) W nifeens () T T (d) T ®RR
40. Trefafad § @ wate =mrer o fora g =mnefie 3 gdyem 9rd o wsgufd o ST bl FrTied
fepam o ?
(a) =IRMfd Ta.S, SR (b) =R %. Yo
(c) =Imrfd grgre fegrIdeaTs (d) =mrgfd ., Wt
41. = v 9 form gaenfies e AT gRI WRd o |ia9M 8 “TSE A1 30-TS9q@” 91&q]
A S fem R 7
(a) 54T Esnea It (b) 7at EsneR ity
(c) 9T TNy Irffray (d) 1197 GRee Aferfem
42, YA G o e 19(2) % A=A, ITeh-TdTd= a2 3Tfirefa - w fdee i
U &g e 8 8 S a1 3ngr & g wehar g ¢
(a) R (b) FEER
(c) IR, AT qoT ToHfah IR (d) S e
43. 3TITHE 338 THETAA & -
(a) TEH IEAA SIfd = & (b) L ST ST SRR &
(c) TEH feeammem s & (d) TE ufget e
44.  (?) % T W I foreheq T Foreeht avawy T e § 98 2 8 S8 goll 9 i vy veel
TR
12:60::16:7?
(a) 112 (b) 122 (©) 210 d) 212
45. ®: M A, B, C, D, E TUT F T I W, 3 oh! IR J@ HLeh 93 @ | E, D 911 31 7; C, A
IBHAAE IFLETASRTAE | Bh aRff SIXDHH T ?
(@) A (b) C (¢) D (d) E
46. =< s pfr § fope By E 2
(a) 12 (b) 16 (c) 24 (d) 379 | HFE T
47. g | e 1 9 R wH W 264 TER JaT1 HRicad 1 3gaTeH fhaT ?
(a) TR (b) feeedt (c) SRS (d) et
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48. Which of the conclusions logically follow(s) from the given statements ?
Statements : Some players are singers.
All singers are tall.
Conclusions : 1. Some players are tall.
II. All players are tall.

(a) BothIandII (b) Onlyl (¢) OnlyII (d) Neither I nor II
49. One of the most important characteristics of Algorithm is to be

(a) infinite (b) pictorial (c) finite (d) symbolic
50. Program written in any High Level Language is known as

(a) .exe program (b) object program

(c) source program (d) executable image

51. The example of Object Oriented Programming Language is

(a) FORTRAN-IV (b) JAVA (c) Prolog (d) Pascal
52. Which of the following are resources of operating system ?

(a) RAM (b) CPU (c) Files in disk (d) All of the above
53. The earliest coins used in Indian Sub-continent were known by the name

(a) Punch-marked coins (b) Copper coins

(c) Alloy coins (d) Gold coins

54. Hathigumpha inscription of Kalinga King Kharwela is written in which language ?
(a) Pali (b) Sanskrit (c) Prakrit (d) Tamil

55. An official named ‘Amil’ during the reign of Akbar was appointed at which level of
Administration ?

(a) Suba (b) Sarkar (c) Pargana (d) Village
56. Who among the following was the founder of ‘United Patriotic Association’ ?

(a) Gopal Krishna Gokhale (b) Bal Gangadhar Tilak

(c) Lala Lajpat Rai (d) Sir Saiyad Ahmad Khan
57. Who among the following led the ‘Kuka-Movement’ of Punjab ?

(a) Balbant Singh (b) Kartar Singh (c) Ram Singh (d) L.M. Longowal
58. Who among the following started the newspaper named ‘Al-hilal” ?

(a) Shaukat Ali (b) Muzaffar Ali

(c) Sir Saiyad Ahmad Khan (d) Moulana Abul Kalam Azad

59. Which one of the following is the uppermost layer of the atmosphere ?
(a) Troposphere (b) Ozonosphere (c) Ionosphere (d) Exosphere

60. Select the correct combination of mathematical signs that can sequentially replace the “*’
signs and make the equation correct.
36 %120 * 4 * 46 * 20
(a) = %, (b) +a R (C) X +a = (d) +a 5 X

LPD 8 Series-A




48. T T el &, S W (F) Freend, qrfdher w9 & SEWI HAT R (B E) 7
% 5o Reerd T § |

Tuf} TTrreh o § |
e : 1. Fo faardt o & |
1. g+t gt aal € |

(a) QAIIE 1L (b) a1 (c) Had I (d) FALARI
49. TR h U Ty R § -

(a) SHATA OREELE (c) fifa (d) fowsifer
50. TR OEA WM AN IUH @S e s wEd e |

(a) .exe program (IIITH) (b) 3ATesiare T

(c) HH S (d) TSRS S
51. 3Afeoige NS TRITTHT TST T 3T & -

(a) BREHE-IV OISLEL (c) WA (d) aT=Rd
52. frafaRea o @ w= @ st feen & fafids g 2

(a) RAM (b) CPU (c) Files in disk (d) Iurerd gt
53. YR SUNGTET H Te STeHas f&eeh sheard & —

(a) 3Ted ek (b) A faeh (c) Thzeng foess (d) Tt T
54. o @ ‘WA w1 -1 3ifera’ fpa Wi § g 7

(a) Tt (b) HEFA (c) SR (d) et
55. 3Tehar o YITEhICt H “3ATHCT TTHeh shH=il JSTeH o fohet T ot forgera giar o 7

(a) | (b) TR (c) U (d) a™
56. ‘ATEeE UfCATTeeh THIRHUIM o TeATIeh AfcIRad § ¥ i o ?

(a) TTT ST TR (b) T TR foeteh

(c) ATAT ATSIId T (d) T8I 3T8HE WH
57. USITE % ‘Gehl SAGIAH o1 Aqed HfeTiad o & fope foma ?

(a) Soieid fg (b) AR fiE ORGACH (d) TH.TH. ARTETA
58. Tr=ferfaa o & fopm “stet-faetear” Amoes THR-v= yoey fema 7

(a) ek 3Tcft (b) FSTFRL 3Tt

(c) T AIC 3TEHE WH (d) HIGTHT ST hetTd TG

59. frmfaRad & @ 1 = v argHvSH I HeE I WA © 7
(a) FAHISA (b) IASHISHA (c) HAETHUSH (d) sfervea

60. TR gl b1 wEt e g, foed <+ Fergel o wfcreenfud s W FefctRaa aefier & &
36 * 120 * 4 * 46 = 20
(a) = %x,+,— (b)) +,+—= () x, =+, = (d) + + = x
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61.

62.

63.

64.

65.

66.

67.

68.

PART -3
State Related Various Knowledge

Which one of the following rivers is not a tributary of Ramganga ?
(a) Lisar (b) Gangan (c¢) Kosi (d) Khoh

With reference to the Corbett National Park which of the following statements is/are correct ?
1. Itis first largest National Park in India.

2. It was established in 1936.

3. [Its previous name was “Hailey National Park™.

4. Its total area is 826 sq.km.

Select the correct answer using the codes given below :

Codes :

(a) Only 1 (b) Both 1 and 2 (¢) 1,2and 3 (d) 2and 4

How many cities / towns of Uttarakhand have been included in the National Clean Air
Programme ?

(a) 20 (b) 3 (c) 2 (d) 8

Uttarakhand received rank in the Sustainable Development Index 2020-21 released
by NITI Aayog.

(a) 7™ (b) 18 (c) 30™ (d) 2nd

Which is not a main source of revenue in Uttarakhand economy ?

(a) Film industry (b) Forest estate (¢) Mining (d) Tourism

In Uttarakhand, which of the following districts has the lowest population ?
(a) Haridwar (b) Bageshwar (c) Dehradun (d) Pithoragarh

Which portal has been launched to provide employment to the youth of Uttarakhand ?
(a) Rojgar (b) Asha (c) Highway (d) Jyoti

Who among the following Parmar King consolidated 52 — Principalities (Garhi) under the
Garhwal Kingdom ?
(a) Ajaypal (b) Sahajpal (c) Mahipat Shah (d) Prithvipat Shah

69. Which of the following Mughal ruler honoured the Kumaun King Baz Bahadur Chand with
the title of ‘Bahadur’ ?
(a) Akbar (b) Jahangir (c) Shah Jahan (d) Aurangzeb
70. Who among the following advocated the Garhwali soldiers against the ‘Peshawar Case’ ?
(a) Mukundi Lal (b) Ansuya Prasad Bahuguna
(c) Mathura Prashad Naithani (d) Taradutt Gairola
71.  Which of the following is rightly matched ?
(a) Kumaun Parishad — 1926 (b) Almora Congress — 1927
(c) Himalaya Sewa Sangh — 1946 (d) Garhwal Jagriti Sansthan — 1939
72. Which of the following region is called “Ramkshetra” in ‘Manaskhand’ ?
(a) Almora (b) Haridwar (c) Rishikesh (d) Badrinath
73.  Which one of the following trees is not found in Uttarakhand State ?
(a) Blue Pine (b) Bhendi (c) Spruce (d) Deodar
oy R " Ty
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T & grafa fafae =
61. Tr=fcRga Ffeai o & H e T <6 Teres TS T8 g
(a) fomm (b) T (c) =i (d) @8
62. IS IF UTeh o ey § g s A a R ar/a gt 8/ ?
1. 9§ YA 1 I8l 98 TP STH 7 |
2. THhI TAOET 1936 T S off |
3. SEI qETd A gefl Y IRk’ ol |
4. TUHT A AABA 826 T FehelHIT B |
= feu e el § | T ST B G -
gwl (b) 132 QM (c) 1,233 (d) 2 34
63. UL W a1 AT o A=A ITTES o feha I8t/ esl wiftret fpu w7
(2) 20 ®) 3 ©) 2 ) 8
64. i TR GRI ST foRal 7121 Haq foshrE YEehieh 2020-21 W ITURAUS A T ST foRaT |
(a) (b) ITSTeEE (c) et (d) g&q
65. TGS AL H i HT Tohed T TgE Hid T2l 8 7
(a) ersam  (b) S (c) @ (d) T
66. 3ST@vs H fferfaa forar o @ fpeeh e ssd w8 7
(a) ERGR (b) SRR (c) <ETgd (d) foeiirTe
67. TGS H JAT3T bl U Y A & foTt S A1 9Idet I fopam man g 2
() TSATR (b) (c) BTEd (d) e
68. Tr=faiRaa § & fora T STees = 52 -7l =l TTedTel U™ o &9 § Tfed foham 7
(a) ITSTAUTA (b) HEST (c) WEIId IME (d) geea wmE
69. Tr=ffiad o & fopm T Eh o FHHR, T S SRIGL =G ! “FFIGL” h! IUTY § FHTHA
fepam 2
(a) IThaT (b) SR ORISR (d) e
70. Tr=fafiga 5 8 foraa et SfFent A1 Uemer wve’ § O i oft ?
() GBI (b) SFTGATIEIG T (c) TG AT (d) TG Hehn
71. Feafafeadasm @ ym gafaa g
(a) PHTS, TNTE — 1926 (b) ITeHIST ST — 1927
(c) TeuTer™ Tam @9 — 1946 (d) TTEaT SR]fd €T — 1939
72. UmE@ve’ H Fefaiad 0 @ forg & 1 THEE e TR ?
(a) 3reHrEl (b) BfER (c) fvehwT (d) ST
73. THIRad 9&i § | I I ITU@US T H A1 I 11 § 7
(a) S (b) =< (c) & (d) TR
— N - v



74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

8s.

86.

Who had constructed the ‘Khagmara’ fort of Almora ?
(a) Bhishmchand (b) Rudrachand (c¢) Kalyanchand (d) Udaychand

Which Panwar King of Garhwal provided shelter to Suleman Shikoh ?
(a) Prithvipat Shah (b) Shyam Shah (c) Mahipat Shah (d) Fateh Shah

The grains collected in place of cash during the Chand period was called —
(a) Bhaint (b) Sahu (c) Sirati (d) Koot

Which of the following Garhwal King invaded Tibbet thrice ?
(a) Man Shah (b) Mahipat Shah (c) Prithvi Shah (d) Fateh Shah

Who among the following was first Commissioner to Kumaun ?
(a) George Thomas Lushington (b) George William Trail
(c) Henery Ramsay (d) Edward Gardner

Who was the Mahant of Guru Ram Rai Darbar during the Gorkha possession of Dehradun ?
(a) Guru Ram Rai (b) Harsewak Das (c) Swaroop Das (d) Preetam Das

What was the total number of seats in Vidhan Sabha for Uttarakhand in the undivided Uttar
Pradesh ?
(a) 20 (b) 21 (c) 22 (d) 23

Which of the following Vidhan Sabha seats is reserved for the scheduled tribes in
Uttarakhand ?
(a) Purola (b) Khatima (c) Nanakmatta (d) Jhabrera

When was the U.P. Re-organisation Act signed by the President of India for the formation
of the State of Uttarakhand ?
(a) 1% August, 2000 (b) 5™ August, 2000 (c) 28™ August, 2000 (d) 30™ August, 2000

Which of the following Commissions rejected Gairsain as the permanent capital of
Uttarakhand ?

(a) Koushik Commission (b) Koshyari Commission

(c) Dixit Commission (d) Rautela Commission

Which of the following percent of the horizontal reservation has been given to the women
of Uttarakhand in government services ?

(a) 5% (b) 10% (c) 30% (d) 33%

Uttarakhand Gaurav Samman was initiated in which of the following years ?

(a) 2020 (b) 2021 (c) 2022 (d) 2019

Which one of the following fairs was declared as a State Government Fair on 5™ August,
2022 by the Minister of Tourism, Government of Uttarakhand ?
(a) Jagra (b) Jiyarani (c) Sitawani (d) Somnath

In which style the ‘Lakhamandal Temple’ has been constructed ?
(a) Besar style (b) Nagar style (c) Dravida style (d) Chand style
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74. U o W feret w1 fHTor fopmm sheamm o ¢
(a) WG (b) ®g=ie (c) ShedTuT=g (d) 3gF=ig
75. AT o TR JaR X 7 ForH fITehTg i IRV FeH i ?
(a) YA TE (b)) WM IR (c) WA Mg (d) g g
76. = T H e o dect § foTaT TR 3TN shgeATdl o -
(a) W (b) &g (c) foreht (d) %q
77.  Tr=fafiega 5 9 form eeTer T 3 fassd W @ SR/ 31msRao foma ¢
(a) WHIME (b) TEUT I8 (c) geeht =R (d) g I8
78. T=fefaa o @ s $uTs: w1 yom Sty ¢
(a) SIS ATHH TR (b) it ferforem et
(c) &0 Tost (d) TSdE MER
79.  QEUGT TGN HTUcd o Y 16 TH T LR 5 We=< i & 7
(a) T&TH T (b) TETH T (c) T@&Y ™ (d) Jra| =
80.  rfaTiora 3T wewt i farem @ H ITrave o forw et fepat € off 2
(a) 20 (b) 21 © 22 d) 23
81. T 59 =M ot fagm aw Hie ITrave § ST SHai & fog S g ?
(a) U (b) @ (c) ThIT (d) FeRET
82. ITIEUS T Fmiur 3 3T wewt yia rferfaem wguf o g for T ot axanefia foran e e 2
(a) 13TTEd, 2000 (b) 53WEd, 2000 () 28 3WTE, 2000  (d) 30 W, 2000
83. o= 1 o form wiufa 3 v o1 STrgve <61 Tumft TeieTit o &9 § sr=fier o feaman 7
(a) HIH AR (b) HIART A= (c) <ifera smam (d) AT 3T
84. ITRGUES T H HIGATAT bl HLHIG T3t H 1 1 & Tope Ui &ifast 3TReqor yem fohan e 7
(a) 5% (b) 10% ©) 30% d) 33%
85. ITNGUE TRE THHM <hi JE3Td fforfad o & forg o &t meft off 7
(a) 2020 (b) 2021 (©) 2022 (d) 2019
86. TrfeIftad TeTl T ¥ 1 Tk 5 37T, 2022 1 ITRGUS HLHT o Fe Hofl gRT Ush TsTeh 1 F Al
o &9 H =ifyd fepam i ?
(a) SIFET (b) Toramr (c) Hrarat (d) qET"
87. ‘Ar@MUSH AU w1 fAmi form Seht # frm mn g 7
(a) SELIAA (b) PR Jreft ORESRE (d) = St
— R - e



88. Nanda Devi National Park was declared World Heritage Site by UNESCO in the year .

(a) 1986 (b) 1988 (c) 1990 (d) 1992
89. Where is the India’s first liquid mirror telescope established ?
(a) Ramgarh (b) Hartola (c) Devasthal (d) Patwadangar

90. In which of the following districts of Uttarakhand, the E-district project was first launched
as a pilot project ?
(a) Pauri (b) Rudraprayag (c) Nainital (d) Almora

91. Which of the following pass connects Darma and Byas valley of Uttarakhand ?
(a) Kalindi (b) Sinala (c) Laspa (d) Khanj

92. With reference to Meizotropis pellita (Patwa) consider the following statements :
1. It is endemic to Nilgiris.
2. [Itis listed as critically endangered in [UCN Red Data list.
3. The species is threatened by deforestation, habitat fragmentation and forest fires.

Which of the statements given are correct ?
(@) Onlyland2 (b) Only?2 and3 (¢) Only 1 and 3 (d) 1,2and 3

93. Where is the Uttarakhand’s second production unit of Diesel through recycling of plastics is
established ?

(a) Lansdowne (b) Kashipur (c) Haridwar (d) Bhimtal
94. Forest Research Centre, Haldwani established Himalayan Spice Garden at

(a) Sattal, Nainital (b) Pathri, Haridwar

(c) Sauni, Ranikhet (d) Vikasnagar, Dehradun
95. Which one of the following passes is not situated in Uttarakhand State ?

(a) Niti (b) Mana (¢) Muling La (d) Debsa
96. The height of Nandakot mountain peak is

(a) 7138 m. (b) 6400 m. (c) 6861 m. (d) 6320 m.
97. Koteshwar cave is situated in which district of Uttarakhand ?

(a) Dehradun (b) Pithoragarh (¢) Rudraprayag (d) Almora
98. Dunagiri mountain peak is situated in which of the following districts of Uttarakhand ?

(a) Pithoragarh (b) Chamoli (c) Almora (d) Bageshwar
99. Which one of the following is not correctly matched ?

(Glaciers) (Location)

(a) Gangotri — Source of the Ganga

(b) Satopanch — Near Badrinath

(¢) Milam — Mana valley north of the Gangotri

Near Badrinath

(d) Bhagirath Kharak

100. Who among the following was not a founder of the ‘Kumaun Parishad’ ?
(a) Pt. Hargovind Pant (b) Govind Ballabh Pant
(c) Lala Indralal (d) Darshan Lal Pandey
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88.

89.

90.

91.

92.

93.

94.

9s.

96.

97.

98.

99.

100.

JaT <t UEH 3 i Iy H IEeh! g fovd it Tt =it fema T |

(a) 1986 (b) 1988 (©) 1990 ) 1992

WA <! 8T TR GUUT QU hal TTid 8 ?

(a) THTE (b) BTl (c) Coere (d) TS

fret & & SrEvs & fope forer o $-fefegare afeism wisete Wieiee & &9 § qdvem Trey g3 7
(a) Wit (b) EgzEmT (c) et (d) 3reHreT

= 1 @ 1 91 o SaTREve I erdT q S =91 bl Shied1 8 ?

(a) HIfT< (b) T (c) wTEd (d) @5

forstreifom uferer (qear) & dev # frm i b o

1. ANt s |

2. I IS Y T 6 IS ST g H, Fhifdeh Tk & €9 YHIEG 7 |

3. I8 YSIid o -oheTd, 3TaTd forge am a1 o o @Al H 2 |
fRrRFEidRR I TE g ?

(a) a1 32 (b) haeT 2 3T 3 (c) had 1 3R 3 (d) 1,23W3
IAUES 1 Tgel 1T wATfeeeh o G=ishiontvl & Eisel IcATe o1 |9 hal TJTiud feham g 7

(a) e (b) HRIT (c) BgR (d) fmare
EIGREREICIERIE H, 3 TIEUH g, TogHT gl ST foham 1T |
(a) Hradre, Jare (b) TU, TGN
(c) |, TEa (d) fereprEaR, SEted
Fraferfaa <t # @ =9 o1 v STEve Tsg d fRa T 2
(a) Hfe (b) =M (c) Hferm e (d) =
TCTehIC Ueid Tt Sl SIS 2
(a) 7138 Ht. (b) 6400 . (c) 6861 H. (d) 6320 t.
ST T ITAEUE o fohdl ol | feua g 7
(a) CEUET (b) foeiirTe (c) TERM (d) 3reHreT
STREUE o Trefofigd SHua) § @ feres gt wela Rrer fera g 2
(a) Tueinrre (b) =Tt (c) TcHIeT (d) SFRET
Freferfaa o | S |1 U gafea T8l § 7

() (Srafeufe)
(a) THTER — T T 3 T
(b) T — Y U
(c) Toremm — T o IR AT EE
(d) IR @ — Sy "
e @ 1 TS uftg o TeTent O TE 9 ¢

(a) 9. g 9= (b) MigC e < (c) A 5ATA (d) TIATA qTUg
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